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All work must be shown to receive credit.  Tb=iKbm, Tf=iKfm, =iMRT
1. (4 points) Even though the oxygen demands of trout and bass are different, they can exist in the same body of water.  However, if the temperature of the water in the summer gets above about 23oC, the trout begin to die, but not the bass.  Why is this the case?
2. (8 points) Oxalic acid, H2C2O4, occurs as the potassium or calcium salt in many plants, including rhubarb and spinach.  An aqueous solution of oxalic acid is 0.580 m in H2C2O4.  The density of the solution is 1.022 g/mL.  What is the molarity of the solution?
3. (8 points) Safrole is contained in oil of sassafras and was once used to flavor root beer.  A 2.39 mg sample of safrole was dissolved in 103.0 mg of diphenyl ether.  The solution had a melting point of 25.70oC.  Calculate the molecular mass of safrole.  The freezing point of pure diphenyl ether is 26.84oC, and the freezing point depression constant, Kf is 8.00oC/m.






















